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Find the sum.

1) 6+ (-10) =

ADDING INTEGER

2) (-15)+9=__
3) ((200+6=__
4) (-35)+27=__
5 2+(-200=__

6) 0-11=

7) 210+ (-219) =

8) 4+2-=

9) 90+ (-95) =
10) (-6) + (-10)=__

11) (-35) +34 =
12) 52 + (-64) =
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Find the sum for three integers.

1) 1+ (-17) + (-4) =

2) 4+2+2=

3) ((9)+(9)+5=
4) (-3)+4+ 4=

5) 86+ (-172) + 83 =

6) 18 + (-12) + (-3) =

7) 48 +15+ (-62) =

8) 50+50+(-100)=

9) 52+ (-48) +(-6) = ____
10) 23+ (-42) +21=__
1) (14)+17+1=___

12) 30-30-15=

13) 6 +6+(-5)=

14) 9+ 14+ (-30) =
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